I LT

11271




$2a+b=0
212a + b =100,

-8, p=_160
Lt R

el y=—g-(x,-sz>
20, \BNMN kLY v, RN ERBER DA KR
By RRERRHE K,
W e, v=-§—wa,
WVRRE, rhREE, ¥
e \/_%.,
AXRY 0 <h< +o0

0 KMREMZE—~POERN=AE BHEER
s=u(t) (O<i<<+20)

fX ﬂ.{

.
-—g—t <t
s=glt) =
-%‘t +80  10<1<<20
N Yep) (66)
B - ==
4

13



31, 3R P EEUOE Bk

(1)y=sinx, (.2)y=l5i:ix[
< ~X,_-
(3)y=|1Ilax] (‘1)y=,3_izL‘;_

!X

v = 2y = ...._Xia_' el
(5)] ln-~’ (G)Y X 6‘\1‘&0

NG BL 13 C2) BT
(3O, (4) BT

¢ 5 ) AE#IEHE, ( 8) &%,

32, INEW y=I{(x)=Inlx+v x*¥ 1 )BAHK.

el fEx B~ x b E R S

Mif(—=x)=Inl—x++/(=x)23%+ 13

p (ZxHvxie 1) (x+v/xT+ 1)

=]
(x+vx*+ 1)

slne—de = gl avETF D=1 (1)

X+vxt+ 1
Fr L2 T,
33, BRI BT B B A X~ 1, DI,

HEW Ca) FIMBERBTEBEY FAG @R
FRGF@EE (b)) BMIREARTZER B
FEBAERRE TN BERSHBRORTEHE
#.
14



ik ¥,

woRBHY, YRR BMEXEC-1L,1)

A

MR C-1,1) AE—fx 9,9 RN MH-x

wHE X,

(a) AF(x)=9,(x)+9,(x),
MF(-x)=0,(~-x) +9; (~x)
=9, (x) +9,(x)=F(x)
FFUF (x) HE &S,

AH(x) =9, (x) +4, (x)
MHC(—x)=9%,(~-x) +%,(—-x)
= -0y, (x) +9,(x)I==H(x)
FH (x ) B&Fm.

(b)Y 4T(x)=¢,(x)9,(x)
MTC-x)=9,(~x) *9,( -x)
=9, (x) 9, (x)=T(x),
BT Cx) ABw#,

45Cx) =19, (x) *$, (x)
MSC-x)=9,(~-x) «$,(—x)
=(—%, (x> ~$, (x)]
=y, (x) *¢§,(x)=5(x)
Frels (x) B &K,

A{(x)=9(x) «$(x)
BfC-x)=9(-x) «y(-x)
=@(x) e (—$(x))
=-9(x) -¢<x')=—f(x11



ol (x) RAEE.
34, THm¥k WIRRNERT SAN SERUEHR
o

(1)y=sin’x, (2)y=sinx?

(8)y=sinx+ 8sin—&7i (4) y=8in-l;—
% Cl)RABRMEE Bk
EXy(x+x)=sin*(x+n)
= (—sjnx ) *=sin’x=y(x)
(2)FRRIEEK.
BEXsia (x+T) =sin(x*+2Tx+T*)

=sinx*REET= OHA KL,
() RAMES, RyHlan, ( 2x5T7amRkh
NEED .

B sin Cx + M) + 3sin—-¥—-(x+14’!)

2
7

= sinx + 8sin( x+4x)

= sinX + 3sin 2 Xy

7

C4)TRBHERE, EEFC2),
35, TH/XNBMEEHA? 42

(1) y=—25y=1

18




(2)y=21axYy=[nx?
(8)y=xfy=arcsin(Sinx)

M (1) y=—1-5r= I FRA—&R.

B y=—fx= ORERKL,

y=1%x=0REEX.
(2)y=2Iax5y=lax*TRA—EZ

BA: y=21nxRECO0,+) FHEX

T EIEFHIEM, {Hy = Iax 0GR IURK ( —oo

0)y, (0,+), HERBEHE(Y¥x>0

i, y= 2Inx=[nx?)

(8)y=x5y=arcsin (sinx ) FRA—H¥,

HEAy=xTRAMEE, HMHEBRNK(—c,
+00), fiy=arcsin(sinx ) REHKLH,

n k14

(§—§< xg.zfﬂ#, y=x= arcSin(sinx ))

36, EBy=x%E (0, 5)XANRHEY.
HEH, #0<x,<x, <5
Ryi=xt yi=xl
Y=y =X t—x 2= (1,+x,) (X3—-X,)

17



EE%%# x!+x!>0) I_;‘!|>o’
Fly.—y,>0
Niy=x*%#( 0, 6)RKARNEE,

37, Ry= TTIMREB SHEHERENSR KN
XARFE RS

ey = Lo MREXRA (—oo, —D (=L 400),

ﬁﬁyﬂ(‘mp -1), (=1, +00)

R E ¥
=1- = 1=y
Qexyy=1-x x=—373, mEEEY
- 1-x y oo — _ oo
y _T‘;'; Exiﬁ&%(— ’ l)p( 1:+ )

ﬁﬁ(‘w, —1) ("‘1’ +°°)'

38, Byry=1+[g(x+ 2)BMREH HEHEEERSR
BR B B T e I,

B, y=14+g(x +2)ﬂ9}?"€)‘(1§2%‘]x>-2’
HigK (—oco, +o00)
R E¥
y-1=Jg(x+2), x=107'-2
BIREHE N y=10 "'~ 2, EXHA
(—oo,4+00) {HlkGy>-2

18



80, By =x" x>0, UxGabMER, X EK
MNUEXT (BT ) R EBHE,
W AR x=1H y=1%ka=0M y=1, & F
aRIRIEN O, 5 T RULF UL i,

n 0<x<1 x>1

a<-1 AFRREY | ATRE @M
~1<a<0 | AFHEER | ATFHEEK
0<s<1 | AFHREM | AFREEN

1<an AFRREH | KTRE BN

40, MU TR RHEREHE R TRE.
(1)y=Carcsiny/Tox%)%, €2)y=2°0*
(3> y=y/ L/ L
. (1)y=(earcsiny/ 1-x* )R y=u?
w=arcsinv, v=v w , w=1-x* &R

2) 7=2sinzx%Eﬂy=2“ ,u=v2 v=sinx
NE TR,

(8) y=\/_l__+\/i>%ﬂi y=v u
b ¢ X
E=vES Y, Y =—-lx—ﬁéﬁﬁﬁli.

19



11, Wy RRR T ER
(1)v=1+x, a=cOsvy y =4 l--dv'r

(2)y = M*, u=1+ gy, v=3+cosw, w= at
i (1) y=

v1-cos®(l+x)=]sin(l+x)]|
(2)y

i

ni'=;/1+tgv =y/1+g(3+cosw)
=41 +{g{ 3 +cosa*)

L.
42, Withy = —’;—:I—L#ﬁﬁﬁé
ﬁ:"ﬁ% 1\ %Xf'—it x*x ]

x2 -
2. I#IW.Y"—’ x—-1 =x+1

Wy= T REEB B o= 1 BRI

EEfy=zx+1—%,

4

/
18 /=:T-"

-

R
/—r o;L 2 X
4248

20



s, Bl y = WE,

¥ (1))EXHE: xx0-
(2)E®R 0<y<s+e
C3 ) Amm¥K, Rkyh.

(4)WERX:
x>0k y> +oo
x-» + oofif, Y"’O

(5) 5B\ EEA.

C6)Hii:

x |

y

=
N



u, iy == Lwmp.

®: (1)EXEx+0
(2) %k, ixy=x*+ 1HIx'—xy+1=0
R, |yl =28, FBER KERXN
Iyl >2.
( 3) FARBMNHETEL
(4 ) WK,
x>0*% y>+eo,

x>0, y—>—09,

Xy=x+ x,

#H Yx—> tocolify—>x,
( 5 ) E&KE,




€ 8 ) 3#ig,

1 ,
x L1 2
5 5
Y| =2 2 3
RHE,

45, By = 1 —cosxE,
M (1))EXR(—00,+00)

(2)ER: (0,2

(3)BE¥

C4)@EMPAH 2,

(5 )HEYy=1~cosx=] +cos(x~x)
B EI By’ = cosx’ WA, RFRE
o' x’ WA T¥# 1 MR Box,
o y i EFEHoyh, WH.




46, W Hy =arcsin (sinx) A
M (1)ENR(—oc0,+00)

x

©
(2)&&[“-2—: TJ
( 8) #Hid¥,
C4)R¥N2m,

(8 )x=kal}, y=0

(8% (-2, —g—nm. BEY

- % =
x ) x 2
y= x 8=
X-x _2_<x< T2
RHE,
by
: y:?rcs}_n.;s 2y

7.

Wi
SR VA T VA
46 ¥ 8

a4



7, WHiy=x+ 1 [+ [x-1]8NEE
W (1)ZEUHR: (—o00,1+00)

(2)BmEK

( 8 ) &|iE,s x"’OW)""‘Zo
PLT 45 B 2% e X T xS A R B,
BRI FA R

x>10, y=x+1+x~1=2x

- 1<x<1H) y=x+1+1~x=2

x<<— 1B, y=—(x+ 1)+(-x+1)=-2x

2x x>
B, y= {2 - 1<x<L1
~2x xx-]
A

¥

./

U

o

4748

48, MEERIOHPEE, TrHHEIEHET M
_ 1
(1)y= -Z—[H(xu +f(x)]



=1 -
(2)y=— [IKI)I Kxﬂ
| (1) %¥i(x)>08,
1
y=—1 [ 1@ [ +10)] =2,

M@y WERBSI(ONELES,
H{(x)OH, y=0

(2)%(x)>08, y=0,

U{(x)< OB, ®mH Y WEABSI(OHEARXT

WX R,

49, REPEREx Inx= 1 BERIR
M Bhx=08, lnxEBEX,
BreA v ¥ Ex+ 0 E %,

Rixlax=1 WK lax=—1,
y

. 0 / 2 5 3 . A
§=4ot
-1

4958




#y,=lnx, Y:=“il—'

HBHEY - v OEH, NEETEHREEBRX
MR IRx~2,5, N BxInx=18E L &N
x=250 M,

50. MBIk fEy =chx=-L+2‘imm,

- f?y;=%e‘&ygf ; e  “HIEE,

Bhy Sy, xTFysixsh, KyWBEETFy ¥t
¥,

x> + oofif, y:—>0,
By—=>yis Xx—>—colfy, y=>0, #y—>y,s

27



2 BB B BB AR

1° B %) RBEe—NE (e—dik) ZX, &
EF CE¥ ) HRBHERER, BHEX THUEPER
#H Cm¥o) Bk, E3RRE—FDATRENET R
¥ MBI, ARXIEARKR, FEREMNEESR
We>o, BERHERLHFE—~TEREEN (EXY), #8a
SNClx=x, [<B)M, |xe-a|<e( |f(x)-A]
<e ) Hior,

2° XTEHNR., (1) FRIEHHMEHT (RN
MYOWREHFNE (2) FREBESEHFIIRREY
Ay C3) EHNBRBIALEE, —RETRIGERRBRR

#. C4) WREHIOZEIRE, R0 T 3 b

B, IR (x) #ohEN N B L HEFAR,

3° RBRmUENR,

FRTMAARBYEE 2N, £, 8. B (SBREF
X% HERR, RzA—ERL,
4° BBARME: (1) FIRARRE LS HORE R

(2) HBRREERNFHMEURER (3 m—%— & A



